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O x+(x+1)+ (x+2) =57
@ (x=1)+x+ (x+1) =57
® (x-2)+x+(x-1)=57
@ x+2x+4x =57

® x4+ (x+2)+ (x+4) =57
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D 6+x=x+6-18 @ 6x+ 18 = 6x

® 6+x+18=6x @ 60+x-18=10x+6
® 60+x+18=10x—+6
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@D 36 ® 39 3) 492 @ 45 ® 48
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@ 4000 + 1000x = 10000 + 500x
@ 4000x + 1000 = 10000x + 500

® 4000x + 1000x = 10000x + 500x
@ (4000 + 1000)x = (10000 + 500)x

® 4000 + 10000 = x
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@ 12 A= 3 36 A=



12.

o sk o] AR shA 57 Akafels W gste] 800 el glc.
e el Adslel Hs) deHL 5 %S Tksta Slse 3 %
Fastel AAMOR sHo] Hek 2 do £ vet T o, x

@ 0.05x-0.03(800-x) =8 @ 0.95x+0.97(800 — x) = 8
@ 1.05x+0.97(800-x) =8 @ 0.05(800 — x) — 0.03x = 8

® 0.05x + 0.03(800 — x) = 8
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@ 0.08x + 0.03(480 — x) = 0.07 x 480

@ 0.08x + 0.03(465 — x) = 7

® 0.08x + 0.03(465 — x) + 15 = 0.07 x 480
@ 0.08(465 — x) + 0.03x = 0.07 x 480

B 008 +x+003+465-x=7



15.

1000 Y#te] L& oto] gt 2p0] 150 Y= A a} gt 2FFof 200 L
Sl 292 gslo] 10 AFRE EolA] 2800 Y& A &35t AZy}
B2 747F d 224 A=71
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® 20g @ 30g ® 40 g @ 50 g ® 60 g
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@ 6x— (80 + 0.5x) = 90 @ 3x - (120 + 0.5x) = 90
® 0.5x - (120 + 6x) = 90 @ 6x— (120 + 0.5x) = 90

B 6x—120+ 0.5x = 90
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